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Answer the following question:

Question one (10 marks)

The following data apply to the

C-clamp show in figure: t”—* L

Pitch = 1.75 mm. —

Single Square threaded. o 150
Outside diameter = 12 mm. oo m}l'- a —;5‘—‘ :
Inner area = 76.25 mm”. ﬁ—% i —f—' B
Coefficient of thread friction ’

=0.12 2

Coefficient of collar friction [___: W
=0.25

Mean collar radius = 6mm W

Load W =4 kN

Operator can comfortably exert a force of 80 N at the end of the handle.

1. What is the needed length of handle?
2. What is the maximum shear stress in the screw body?

3. What is the bearing stress on the threads?

You may use this
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